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CHEMISTRY
(Hindi & English Versions)

Time : 3 Hours

Maximum Marks : 75
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Instructions :
(1) Attempt all questions.

(2) From @Question Nos. 1 to 6 each guestion carries 2 marks, Answer each
gquestion in maximum of 30 words.

(3) From Question Nos. 7 to 12 each question carries 3 marks. Answer each
question in maximum of 50 words.

(4) From Question Nos. 13 to 17 each guestion carries 4 marks. Answer each
gquestion in maximum of 75 words.

(5) From Question Nos. 18 to 22 each question carries 5 marks. Answer each
guestion in maximum of 150 words.

{(6) Marks have been shown against each question.
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6.

. sp Wl =&k %] SHAE 59" 9 99 S0 g

. Hiige fF=e & 21 Semay Sifen |

(29

[redt

Write the geometrical orientation and bond angle of sp hybrid orbital.

et

Give two examples of Metalic erystals.

unumwa(}HaﬁzW”.ﬁﬁ“‘.qﬁﬁﬁww%rﬁﬁﬁﬁﬁmaﬁ%mu 2

120 grams of NaOH is dissolved in two litre solvent. Calculate the molarity of
this solution.

=

. T 9 uT % 9=d 70 w9 =1 fofaw -

T, Sedg ${T 9R | 2
Write increasing order of entropies in the following :

Water, Water vapour and Ice.

. YiTET g 3R - H T O 27 2
What i1s the relation between average life period and halflife period ?
a1 "o dnfudl & 9w fargn 3

Write names of two Sulpha drugs.

] T ] WHIY] FHIE 92 S TEI seAAE 235 § 1 3HH 7a W 4f FU e
H 9 o G %1 A 5SAAE AR WA EEiE AW S 3

An element has atomic number 92 and mass number 235. This element emits
70 and 4§} particles. Find the atomic mass and atomic number of the element
formed.

. FARE 3N FE o T9ieE e g &, St HewT SRaTRTE B aeanh| w6

THHATST | 3

Bleaching of flowers is permanent by Chlorine, but temporary by Sulphur dioxide,
Why ? Explain.

L—12—M—1532A1



9.

10Q.

1T

(3 )

lLad

Trefefas g gl ¥ wma=r 99 9 3951 992 fafan .

(=) =i
(@) =H e
(7)Y HE

Write the constituent elements and their composition in the following
alloys :

(al Bronze
(h) German silver

ie) Brass.

BRI ¥ IESWE! F TEAEE w1 MilEs fagH F APW W T s

Ly

(F) o s=E=n

(&) HEEFE UFE

() AT FEed |

Describe the behaviour of hydrides of halogens in the following points :
(a)  Physical state

(b  Reducing nature

fe}  Acidic strength.

Lad

(%) SN TEgEEEE F stawa §
(@) Yiely&H SAErEEe |
Give the equations of reactions, when the following react with Copper sulphate

(a)  In excess of Ammonium hydroxide

th) Potassium iodide.
HUGT (Or)
Zn AW +2 ATHEE TSR w=iEE S v o= 7

Zn shows only +2 oxidation state. Why ?

Z—12—M—152A1 P T. 0.



L 4)
(F) FHATs=E
(@) =T =599
(M) FEe ) fEeEe

Lad

Compare Alkali metals and Alkaline earth metals under the tollowing points ;

(e Valency
(b)  lenization Potential
{c) Solubility of Carbonate.
HGGT (Or)
Be 3T Mg =9rem wiam =51 727 534 £ 7

Why Be and Mg do not give flame test 7

)
T

What is Cell constant ? How is it experimentally determind ?

14. Sl =1 ®ife | 279 0 THIA € 7 390 357 gUEE0

What do you understand by Order of reaction ? Explain with exam ple.

—
(W5

(%) HEEES FFEEE T2 i)
(|) YEivEs SEaEE a9 (i)
(M) TFEUHA FEw (i) FRES
() TN UEE FIEAT (i) e

Write chemical formula of the following Coordinate compounds :
(a)  Potassium hexacyano ferrate (ii)

(b)  Potassium dicyano argentate (i)

{e)  Hexa ammine cobalt (iii) chloride

{d)  Hexa equa chromium (iii) chloride.

Z—12—M—152A1
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16, oI TH UH IS0 GG 3 4

(Th) oIS

(@) =
(1) W=
(7)) HTEE
Give one example of each :
la) Elastomer
(b}  TFibres
(¢}  Thermoplastic
(d)  Thermosetting.
Hqgar (Or)
S o £ 7 w4 fow wEw wwE S £ 7 399 ° swAn fAEn|

What iz Teflon ? How is it prepared 7 Write its two uses.

7. FretetEg 1M T fmfuEl =7 o9 8 9§, 3% §YET 89 UEEEE TH

IGIEELES B
(%) aTEal
() =l
() EEAE

(9) T 1 YER F g9

Write the simple and chemical name of Vitamins, whose deficiency causes the
following diseases :

{al  Anfemia

(b  Pyria

(el Sterility

(dl  Non-clotting of blood.

Z—12—M—152A1 P.T.O.



{6

HEGT (Or)

F=fafan w9 =1 =ifag F35 =6 afod % 9™ @ 570 =1 et
(F) A

(|) m=EatET

() AmEEEe

(57} I

Write the source and functions of the following hormones

{al Insulin

(b} Adrenaline

(e Thyroxine
(dl  Testosterone.

18, T3 #i9U el T9eEs =1 amifes SioEE 959091, Seas § sofen fom & o
TS % AEt 5l © | 5

Prove that the relative lowering of vapour pressure of a solution is equal to the
mole fraction of the solute.

19, W T w0 § 7 Tiem amw @n fer sw w fam it
AG = AH - TAS 5

What is Free energy ? At constant temperature and constant pressure, prove
that

AG = AH — TAS

20. UHles 376 sGH S v 9 5 =1 9vie e = TH] F FG R

L

(F) ITFLI T THIHT I3
(@) wfufam= =1 =9=m
() Tafy =« dfars 3o
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L 7))

Describe the quick vinegar method of preparing Acetic acid under the following
points

ta)  Labelled diagram of the apparatus
(b} Equation of reaction
(e) Brief description of the method.

Hgar (Or)

() TUHIEF I ¥ Higw SRS

(|) T F HEE

(=) tHEE 9 FEEa |

How will you perform the following eonversions ?
fal  Acelaldehyde into Acetone

(b)  Acetone into Acetamide

{e}  Acetic acid into Methyl cvanide

(d)  Aniline into Phenol

) Aniline into Chlorobenzene.

21. AFHTaE faeea @1 Fezel 599 § FE ue 5t EeEn 5

Write any five differences between True solution and Colloidal solution.

HAGEr (Or)
HefarEs . dibs fewioal fohen -
(F) T=rHIm
(") =7arEd

(1) T FIen=s |
F—12—M-—15%A1 B0



22.

(B
Write short notes on the following :
(a)  Peptisation
(h)  Apohan (Biﬂ.[.ysls)
t¢c)  Rakshi Colloid. (Prajeckive Colloid)

T 2101 £, TEi% (FEE ATGEIE 5 9HERI Sy 5
(%) TUHMew o= T 09w Uehee 5 @19 duiwma Zal 2

(@) F=fesere = UHios TRESEE ¥ =iy afufEn 26

() uffe|m =7 Ifafes s5AEs F 9y SaEd g 2
(w) Tdisfrzene = Tnsies OEAEE & =g afufFEas 79 2
(=) uua e = g9 F oWy #i6tEw w2 s 2
What happens, when (write Chemical equation only)
(a)  Acetic acid reacts with Ethyl aleohol
(b) Benzaldeliyde reacts with Acetic anhydride
() Aniline reacts with Acetyi chloride
td)  Acetaldehyde reacts with Hydrogen eyanide
(e)  Ethyl acetate reacts with Ammonia ?
Hadr  (Or)

(F) FEEAHE HATGEF]

(@) FATEE ATGE

Explain the following reactions with examples and equations :
(a) Carbylamine reaction

(b Cannizzaro reaction:

Z—12—M—152A1 25,854
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30 = B
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Instruetions :

(1]
{2)

()

(4)

(5)

Attempt all questions,

FFrom Question Noz. 1 to 6 each question carries 2 marks. Answer each
question in maximum of .30 words.

From Question Nos. 7 to 12 each question carries 3 marks. Answer each
question in maximum of 50 words.

From Question Nos. 13 to 17 each question carries 4 marks. Answer each
question in maximum of 75 words.

From Question Nos. 18 to 22 each question carries 5 marks. Answer each
question in maximum of 150 words.

Miarks have been shown against eagh question.
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(2)

1. sp? GEd HEAF H igeE fE=E 9 99 =M St 2
Write the Geometrical orientation and bond angle of sp* hybrid orbital.

3. WE-WETH THeed % o1 IeRAV sied | .
Give two examples of Covalent crystals.

3. TaegT E‘E,‘. = F 2m F1 9= AT =+ TeC 200 W1H 9d ¥ foaar Toea AT AT
S ? (faeam AEez H AMAE = 170) 2
How much Silver nitrate must be dissolved in 200 gms of water fur the formation
of 2 m solution of Silver nitrate ?  (Molecular Mass of Silver nitrate = 170}

4. B Tow AmigE] FoAm WEn 2

Write name of two Sulpha drugs.

5. Tfedniees C-14 F wg-3Tg w5600 FU ¥ TH HUF w A=A 2
Half-life period of Radioactive C-14 is 5,600 years, Egplain the statement.
6. TTF I we wiEnT (AG®) R mEErEEE (K) T = T 27 2

What is the relation between Standard free energy change (AG®) and Equilibrium
constant (K) ?

. frdt T = TR A 90 T W] TS = 232 & | IEH 6u HW 4 FUI F IEHA

7
3w AT AR S O FeENE S A ®AE W A0l 3
An element has atomic number 90 and mass number 232. This element emits
Bo and 4P particles. Find the atomie mass and atomic number of the element
formed.

o e T FeEe T e g FEEE W oee § A 2§ 7 4
What is the difference in the structure of Boron trichloride and Aluminium
chloride ?

5. SO % 9 FEEh| w AH 8 aﬁaﬁqam-mﬁﬁﬁﬁamﬁiﬁmﬁﬁﬁm 3

Write the names and forraulae of two ores of Tron. Also write the names of two

alloys of Iron.

7—12—M—152B1




{3 )

10. FE % T 9 Al wel F 9w femen 3w 2w gw awen 3
Write the names of any three oxvacids of Sulphur and
formulae.

show their structural

11, FR 99 F F=uv § TR uE § R T oamhE snfEas % g
Write equations of chemical reactions which take place in the process of smelting
in the extraction of Copper metal.

AG9T (Or)
TEEE A tfareEE qeA FF sl F w=ia witan 3
() AFEFETT FEng)
(%) YT F =F97
(7)) = AFF = 3

Compare lanthanides and actinides under the following points
(a)  Oxidation state
(b1 Formation of Complexes

(i) Formation of Oxoion.

= fagsl & avm v #Hem 5 i =57 ovaEn .
() #HE9 fave

it

() AlFFEEF T

Dezcribe the properties of halogens on the following points
(a)

Tonization potential

ihi Atomic and Jonic radii

) Oxidizing power.

Z—12—M—152B1
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{4 )

IFgar (Or)

A SEEE Hi osE 9 T wed & 2 2HaAnd|

Why Born halides are called Lewis acid ? Explain.

13, HEEy & FUg ®1 =Ted Siat| THE 2 AT 9 THE S | 4

Explain Kohlrauseh's law. Also give its two applications.

14, TofetEs T o faufee = w91 2 FE 2, 39F WEWW 99 UEEAw A
fefam . 4
(F) =
(@) "=
() =

(g) T=F = 9Eh1 7 =70

Write the simple and chemical name of Vitamins, whose deficiency causes the

following diseases :

(a)  Anaemia

{by Pyrmia

(e)y  Bterility

(d}  Non-clotting of blood.

Hgar (Or)

Erofefigy wiotes =1 =fas 07 9w 1hgd & A6 T 3w Y f9iE

(%) FHiTH
(") wEAeA

() ETEEEE
(5) TEE=AAI

7Z—12—M—152B1



(5)
Write the sources and functions of the following hormones :
tal Insulin
(b)  Adrenaline
fe)  Thyroxine

{d} Testosterone.

15, Tr=Teiegs ITEeEEArE A& & s 54 jaiag

() TEAEZEZ] ZEUHH SEre (i)

(E) 128 (U9d[ SEUHE) w699 (i) F90Es

() 9 HETTE ST (0)

(| eSS (i1) JEe

Write Chemical formula of the following coordinate compounds :
(al  Trinitrite triammine cobalt (iii)

(b} Tris tethylene diammine) chromium (iii) chloride

(e}  Penta Carbonyl iron (0)

(d}  Tetra chloro platinate (ii) ion.

16, Ffafan ago= & Two=l = 99 @ I 99 9950
(%) 29
(=) 1,5

- -

(M)  FIEE
(8) g

Write name and structural formula of monomer of the following Polymers :
tay  Teflon

(by P.NV.C.

{e) Terylene

(d)  Polystyrene.

£—12—M—152B1 | 7 8 4



AqUar (Or)

-

A= =1 AHSET

(F) HOHE Faos
(F) T Fedw |
lxplain the following :
(al Addition polymers

(b1 Condensatien polymers.

17. gt w1 S0 ¥ =9 == 9939 = 7 SR o%l HHEEd| 4

What do vou understand by order of Reaction ? Explain with example.

8. Hree EoiE saTay feuds = E ) e fEuiE sEaEa eEiE 0 Emed AT
T B mEs UEie w9 ¥ WU E3 F e whed)

L

What do vou understand by Molal freezing point depression constant 7 Derive
the formula which relates the molecular mass of Solute with molal depression
constant.

-

19, UEifem @ AR F1 wa Eew fafy = aeE F faesl ¥ oaeama wite

L

(F) ZFa=mid =] amitEs =53

-

(/@) HqER= =1 F9E

() Taf = Hiem 59041

Describe the quick vinegar method of preparing Acetic acid under the following

points :

(a)  Labelled diagram of the apparatus
{b)  Equation of reaction

(¢) Brief description of the method.

7—12—M—152B1



firey ofteds =9 F9 Fid 7

(F) THefresEs T THEN
(T) UHEZR 3 THREHEE

(1) UHifeEH AF 9 AlUE FFEs

(9) WHEEM H R

(=) UHsE 4 gERE= |

o

How will you perform the following conversions 7
(a)  Acetaldehyde into Acetone

(b} Acetone into Acetamide

(¢1 Acetic acid into Methyl cyanide

(d)  Aniline int6 Phenol

D Aniline into Chlorobenzene.

20, W w0 § 7 T A i e wm w, T WIS

"

e

AG = AH — TAS

(Fx]

What is Free energy ? At constant temperature and constant pressure, prove

that
AG = AH — TAS.
21, IATE & arafus 49iftE f9E= = SoEo Higd 9usEu | 5

Explain the intermediate compound theory of a Catalyst with example.

g4t (Or)

A w1 weEE fHE % wEmE

Explain the washing action of Soap.

Z—12—M—152B1 P.T. O,
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Pt

{ 8)
T E R, FEF (FEA EEEE FHE wed) 5

(%) whifrserz =1 smiEEE AgNO, F & = @

(m) Ufsem =1 %

F Ty Bl ‘:':Iﬁﬁ ’E"

() o a w1 s F o9 fEe gl E

() TEEE F KO, =1 suRefs § CHCL & e el €

(=) wifzIw AWUE E GEEEE § W T w0 8

What happens. when (Give Chemical equation only) :

(a1 Farmaldehyde reacts with ammonical AgNO,

(h)  Aniline reacts with Acetie anhydride

(¢} Acetic acid reacts with NH,

(d)  Acetone reacts with CHCL in presence of KOH

(¢} Sodium benzoate heated with Soda lime ?
Huar (Or)

(%) HilFd =3

(w) fai4

() TAEMEES FEE

Explain the laboratory method for the preparation of Acetone under the following
poInts -

(a) Labelled diagram
(b)  Method

(e}  Chemical equation.

[
n
L &
o
e
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CHEMISTRY
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Time : 3 Hours

Maximum Marks : 75

o4l QY9 T HI9 |

T HEE 1 H 6 T UOE W 2 &% w1 € 99 9 W % I 9 weE-gh
30 9Ie= F |

U9 FO® 7 9 12 9% TodF 999 3 3T T £ 99 T9F 999 F 390 T Y- AET
50 o= E |

T FEE 13 F 17 9% THF 999 4 5% = E 99 v9E 9 % I 1 T
Hrm 75 = F

U FHE 18 W 22 T YAE Y99 5 IF W £ 991 v U9 5 == A
1 150 = T

Tl WU F T IEF % 9uin U E

Instructions :

{1)
(2)

(3)

(4)

(&)

(G

Attempt all questions.

From Question Nos. 1 to 6 each question carries 2 marks. Answer each
question in maximum of 30 words.

From Question Nos. 7 to 12 each question carries 3 marks. Answer sach
question in maximum of 50 words,

From Question Nos. 13 to 17 each question carries 4 marks. Answer each
question in maximum of 75 words.

From Question Nos. 18 o 22 each question carries 5 marks. Answer each
question in maximum of 150 words.

Marks have been shown against each question.

Z—12—M—152C1 PO 0.



(2)
1. dsp® THia wers & =Aarg A 9 =99 Fm faE ‘2
Write the Geometrical orientation and bond angle of dsp® hybrid orbital.

5. wmafas fFed & 2 IRl Sied |

d

Give two examples of lonic crystals.

3. HifzT FEREE w1 200 e 2M ToeE = % fon fHar am diEan wEEE F
YT HAT B0 7 2

How many grams of Sodium chloride are required in the formation of 200 ml

of 2M Sodium chloride solution ?

4, THEd dur ATELE FO0 8 54 e g 7

Pl

What is the relation between Enthalpy and Internal energy ?
5. 21 wew dmfadt F JW @) 2
Write names of two Sulpha drugs.

6. TN &fq =41 B ? 2

What is the Mass defect 7

7. Pt FeT T I A 90 X O FSEH 236 ¥ 1 39 4a HT 28 F F T
% 999 9 o F1 TAE 5EEE SN WHY] FEE A6 i | 3

An element has atomic number 90 and mass number 236. This element emits
40 and 2 particles. Find the atomic mass and atomic number of the element

formed.

e i

8. WEH § WHE 17 F W HI {0 a9 §He FFEFE 2 6 2 3

Why are the elements of group 17th coloured and strong Oxidising agents in

nature ?

7—12—M—152C1



(3)

9. FleifEn oy 9|l 5 w5791 a9 9 393 9929 fafan - 3

(%) UegEH=y 904

(E) T Hew

(7))  =v oI |

Write the constituent elements and their composition in the following alloys
(a)  Aluminium bronze

(b) Gun metal

(e) Bell metal.

10. SF, U8 SF, i #0471 F750) 3

Draw structures of SF, and SF..

11, HEAY e § HEgw i 599 %1 waie gm £ ) 9@ 2 sen S 3
Transition metals have tendency to form complex compound. Why ? Explain.

HGET  (Or)

FiR F Fedm F 999 9fteds § o o Grwell 5 gdiem fafan 3

Write chemical equations which take place in Bassemer converter during the
extraction of Copper.

12. N,O 91 %1 =il H Ser ¥ aifas 92@F Tl & | SR S| 3

N,O is more helpful in burning than air. Give reason.

HAY9aT (Or)
T fagsll F s=wia FEa a9 fafow 51 gem s
(%) =E-a9
(|) =iem Hifrs
(M) HTH] FHF |

£—12—M—152C1 2.1 0.



(4)
Compare Carbon and Silicon under the following points :
{a)  Multiple bonds
(b)  Complex compound

(¢) Atomic number.

13. Tafoe <o, gogiw Ssal S S Sowd T a9a] & 99 999 TEa B0 4

What is the effect of dilution on Specific conductivity., Equivalent conductivity

and Molecular conductivity ?

14, Tefefen sgo=i ¥ Toos = 31 @ =T g7 foae 4
(F) Weias &
(@) TF

(1) "EFei-6

(%)  HiefTefgeEm

Write name and structural formulae of monomer of the following Polymers :
{a)  Natural rubber

(b)  Tefflon

(c) Nylon-6

(d)  Polyethylene.

Fg=ET (Or)

giefieesiy 99 SeE 90 A 99w el & AW, WEiEE T w wiw F g
Ere i cicerd
Write the names of substances used and also give Chemical reactions to prepare

Polystyrene and Terrylene along with two uses of each of them.

£—12—M—152C1




(D)

forfan 4
() FE
(@) umEEE
(7))  =EAl

(%) 1= & 9T q FAA00

Write the simple and chemical name of Vitamins, whose deficiency causes the
following diseases :

(a) Anaemia
(b)  Pyria
(e) Sterility

(d)  Non-clotting of bloed.

HAgEr (Or)
St et 57 afee S0 g atedl % 9™ @ 39 wd (6
(F) g
(@) ugAfeA
()  grEiEEE

(|) TEEAN
Write the source and functions of the following hormones :
(a) Tnsulin
(b)  Adrenaline
le) Thyroxine
(d)  Testosterone.
16, sffara =1 Tz § o9 ¥ FRAT € 7 S ohd aeeE| 4

What do you understand by order of Reaction ? Explain with example.

Z—12—M—152C1 B0



{6)
17. Tr=fEfEs sygeddrs 9 = TeEt= & H3 faiEe

(F) EEFARISEUETR w249 (i)

() EREFHEN Z2HE HiEre (i) 3=
(my fem (uiuEE sEiEE) FWEa i) FFeEs

(") =2 FwEie fHfEa (0

Write chemieal formula of the following coordinate eompounds :

{a)  Dichlorediammine platinum (ii)
(b) Dichlorotetra ammine cobalt (iii) ion
(c) Tris (ethylen diammine) nickel (iii) chloride

(d}  Tetracarbonyl nickel (O).

18. smeyl @R oyl fasEs § = foiau) (=i )

Distinguish between Ideal and Non-ideal solution. (Any five)

19. FieAEe fooaa w1 =l o= AFI90 F1 =0 FHife
Describe any five important applications of Colloidal solution.
HIaT  (Or)

= T R 7 eEi-Yes (9Es farad

What is Coagulation 7 Write Hardy-Schulze's law.

20, AEeEHH Wl FuEad @fufmEmsl = = fEEE F e @han
(&) = #rEn § A9=a99
(@) Io/E Tsgs | A09Ed
(1) &g Wy § oEUEan |

Z—12—M—152C1
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(7)

Write reduction reactions of Nitro benzene under the following points :

ta)  Reduction in acidic medium

{h)  Reduction in neutral medium

ic)  Reduction in alkaline medium.
HAgdr (Or)

L

fm dife =0 9 wWrE F:i0 7
(%) TEUYA 9 H T3A
(@) CH.CHO | =5t
(M EfetEfes s 8 uEE

(7)) Ufae Tdizz § UEcHEs

(=) 9gomEs 9 9fas w57

How will you ohtain the following compound ?
(a)  Ethane from Diethylether

(b} Benzoin from C.H.CHO

(¢)  Asprin from Salicylic acid

(d) Acetamide from Ethyl acetate

(@) Phthalic acid from Phthalimide.

AG = AH - TAS 5
What is Free energy ? At constant temperature and constant pressure, prove
that :

AG = AH — TAS.
() TIH F THIFG =
(@) wAfafe =1\
(my Tafa =1 s avi
12—M—152C1 PP.0;



(8)

Describe the quick vinegar method of preparing Acetic acid under the following
points :

fa}  Labelled diagram of the apparatus
(b)  Equation of reaction
(c) Briefl description of the method.

HAgar (Or)

How will you pcrfa:.:rm the following conversions ?
(a}  Acetaldehyde into Acetone

(b)  Acetone into Acetamide

(¢)  Acetic acid into Methyl ¢yanide

(d)  Aniline into Phenol

{f) Aniline into Chlorobenzene.

Z—12—M—152C1 25,834
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[T 99T T FHi1A0

U9 FHIE 1 H 6 OF WET 99T 2 FF T € 99 UHF UVH F 397 F1 =T
30 W= B
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Instruetions :

(1)

(2)

(3}

Atfempt all questions.

From Question Nos. 1 to 6 each question carries 2 marks. Answer each
question in maximum 30 words.

From Question Nos. 7 to 12 each question carries 3 marks. Answer each
question in maximum 50 words.
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gH ®H OH U EF g9 5 9RER faia

uifeEE 8 @fvEs fFea § 5 5= faad |

. Wm‘q f!’m'::i ?'?

{2

(41 From Question Nos. 13 to 17 each question carries 4 marks. Answer each

question in maximum 75 words.

(5} From Question Nos. 18 to 22 each guestion carries 5 marks. Answer cach
question in maximum 150 words.

(6} Marks have been shown against each question.

b=

Write two information conveyved by bond order.

[

Write two differences between metalliec and molecular crystal.

2
Whalt is NnrmuliL;:I* ?
. T Tl 5491 ? 2
What is Free energy ?
st foaved wE Aiusg o § 31 A aan | 2
Write two differences between nuclear fission and nuclear fusion.
HreA 9 o § 7 U o’ sned| 2

What is Acidic dyes 7 Give one example. |

~ ol " . - [ . a = e A |~ -
ety GEEY Siigdas H =id &1 59F 3 BF Al AEERgR FOITEEAS GHERTT
foTEm | 3

Write the equation of chemical reactions taking place in acidic bessemer converter
in the manufacture of steel.
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A4GaT (Or)
e & T F 9w SEwm wfeds § B St ooates st i

Write the chemical reactions taking place in bessemer converter used in the

manufacture of Copper.

(TF) T
(|) E Fa
() =T wEEm |
Compare Alkali metals and Alkaline earth metals under the following heads :
{a) Valency
(b)  lonization energy
(¢)  Flame test.
9. HiFd= T4 &, w&tF To=7 29| ga=EET 3

. Oxygen is gas, while Sulphur is solid. Explain.
HALIET (Or)
H,O % g7 4 H,S vae 9999 3| 767
In comparisen to H,O is strong reducing agent. Why ?

10, MEETa YUEHIEE 75 oW1 61 7

Lid

Nitrogen does not form pentahalide. Why ?
11, 28 %A W T dfem feumy fofan 3

Write a short note on Tracer technique.
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13,

4.

15,

16.

17.

(4]
A0 gl & AET G T 2 F ) 350 3
Transition metals generally form coloured ions. Why ?
ToEm ATl SO F YA S aw 9% F0 9NeET) 4

Explain four factors which effect the Electrolytic conductance,

T THEES #i4fwma #1 9n f=veen fafEn) 4
Write four charaeteristies of Photochemical reaction.
W‘mﬁmqmnﬁaﬁﬁww*ﬂmnﬁﬁm| 4

Explain with example the ionization isomerism and linkage isomerism in

Coordination compounds.

qEl ©RET wH ¥ TR fafE) o | w1 ety w1 9w o5 509 e 4

Write the name of main steroid hormones. Name of glands by which it is

serreted and its uses,
HAGET  (Or)
BIRMANST 991 7 Toe YR ¥ = w5 £ 2

What is Haemoglobin ? What is its funetion in the body ?

Write differences between Addition polymerization and Condensation
polymerization.
HYET (Or)
=1 agerni & dvaum &1 FHtwmw, U0 uE STEm g
(%) HFemse
(W) %I

—12—M—153A2



Write the equation for the synthesis properties and uses of the following

polymers :

ial Bakehte

(h Teflon.

18, HieTel SEUATE S99 TEETE T § 7 TedAie = d=sig 3 9 9 39 o Hv] gofte
=TT T FS] AV =4 vi9 € | 5™ 2 9@ R w7 100 T A= F Sten s #, 69
feqi & 0.69°C =1 HH] 241 T 1 TFAia S 9799 = AEH 99 HIAG |

(K, = 5.12 k kg mol) 5

What is Molal elevation constant ? When phenaol is disselved in benzene, then
their two molecules associate to form a bigger molecule. When 2 grams of
phenol is dissolved in 100 grams of benzene. then the depression in freezing
point is 0.69°C. Determine the degree of association of phenol.

(K. = 5.12 k kg mol")

19. T9= yliadqal & 9 09EES 9960 fdiEa 5
() =M 8 fEAE
(m) wfys THE 9 gige T |
Write only chemical equation of the following changes :
{a}  Aniline to Phenol
()  Methylamine to Ethyvlamine.
Hgar (Or)
(F) T sifafEn

(|) EEusEET AiatEar

Z—12—M—153A2 BT, U,




20,

(6 )

Explain the following reactions alongwith the chemical equation :

(al  Coupling reaction
(h) Diazotization reaction.
TATTENET § UHIEA #E # a9y w1 e fems § wwem 5

() R4l =1 Fo=0
(E) 3I9HEIT =1 JH(Fa =9
() Hiwm &=

Explain the laboratory method for the preparation of Acetone under the following
points :

(a)  IEquation of chemical reaction

b} Labelled diagram of the apparatus

(e Brief description of the method.
i

HIGT (Or)
F Tl B, 99 cmm‘ﬁzﬁmm] :
(F) THIEH a5 F1 F91T9 + o919 T3 o &
(@) UAEH FINEE ® UYE Rl 5 9" S$iytes 29 2
() EHCSERE w1 SETE F WY TEw w6 2
() ufgfew == =1 PO, =1 sufsafa § 7 = £
What happens, when (Write chemical equation only) :
ta)  Acetic acid reacts with Ammonia
(b)  Acetyl chloride reacts with Ethy! aleohal
{c) Formaldehvde reacts with Ammonia
(d)  Acetic acid is heated in presence of PO,

(e} Aniline is heated with Carbon disulphide and Potassium hydroxide ?

£—12—M—153A2
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21. H,, C,H,, (9EFeiesdE) a9 CH, & U 7% 289 $ &1 71 99 — 241,
— 3800 F9T — 3920 kJ mol” ¥ | IrEsEEsTA (C.H,) =T EESISARIT S R TIE]
I | s

The standard enthalpy of combustion of H,, C_H_ (Cyclohexene) and C_H , are
— 241, — 3800 and — 3920 kJ mol’ respeetively. Calculate heat of hydrogenation
of Cyclohexene (CH. ).

L

22, fofis =21 % 7 9FA ®1 99EA Gedl =) gEEEg)
What is Micelle ? Explain the cleaning action of Soap.

HEGET (Or)

Fieise famad @A =i fgge Ay f5fa 51 9vi fag afem =itag

Desecribe the Electrolytic digspersion method for the preparation of Colloidal

solution.
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Ol 9y v =ag

UV FEE 1 9 6 0% T9F U3E 2 3% 51 £ a9 TSHE YT 5 o0 %] weE—Hm
30 = T

U¥ HHE 7 9 12 TF TEF T 3 H% ¥ 99 Tw UYT 5 597 7 I=-5m
50 TeE E

WO FAE 13 F 17 7% T9E U9 4 HF W E 99 §OF T F I F 7=
H 75 = E

¥ WHIF 18 © 22 9F T WIT 5 HF W E A9 T=6F g9 ¥ T S uE-
HiEr 150 = £

Instructions :

(1)

{2)

(3)

Attempt all questions.

From Question Nos. 1 to 6 each question carries 2 marks, Answer each
question in maximum 30 words.

From Question Nos. 7 to 12 each question carries 3 marks. Answer each
gquestion in maximum 50 words.

/—12—-NM—153B2 P.T.0.



(2)

(4) From Question Nos. 13 to 17 each question carries 4 marks. Answer each

question in maximum 79 words.

(5] From Question Nos. 18 to 22 each question carries 5 marks, Answer each
question in maximum 150 words.

(6) Marks have been shown against each question.
1. N, 47 =1 Hiv== =% A7E 930 2
Draw molecular orbital diagram of Nitrogen molecule.

Write two differences between Schettky and Frenkel defect.

e }

3. HIR 94S 597 § 7
What is Mole fraction ?

4. THeYl T HUSEw

el

Explain Enthalpy.

 AEE Hogs v wEg £ 7

iy

s

What is Nuclear fusion ?

G.. FEad 1= 9T £ 2 TF IS0 Rau|

P

What is Ingrain dves ? Give one example.

. TR AT & TaEeE g9 § 9F 3y fatmn

|

[NE]

Write three uses of Tracer technique in the field of medicines.
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8, IEE HHTT UEas H =iE S 8994 § 21 gEl giiEaEt F TEEfEs 9
T | 3
Write the equation of chemical reactions taking place in acidic bessemer converter
in the manufacture of Steel.

dqgEr  (Or)
A & T § wge g ufEds § w9 9 et afafrend fafe
Write the chemical reactions taking place in bessemer converter used in the

manufacture of Copper.

9. W WA F TGV TR T97 wEen ¥ fAvm in Em F ) =0 3
Why alkali metals give different colours in the flame of Bunsen's burner
10. 37FT= 9 2, SdiE 9o 3181 FHEa 3
Oxygen is gas, while Sulphur is solid. Explain.
#HAGEr (Or)
H,0 =1 ga1 4 H,S ae A9=1a® 2 | 1 7
In comparison to H,O0, H,S is strong reducing agent. Why ?
1. HeFHY g UfE HHreEal qofvie Fa9 £ | 5461 2 3
Transition elements exhibit variable valency. Why 7
12, UEEITTR ©F = AIEEE ) 7 5
Aluminium i1s a good reducing agent. Why ?
13, He Teatis 69 F2d 2 ? T9F OF ¥AF o0 55 I F0 £ 7 4

What is Cell constant ? How is it experimentally determined ?
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14.

16.

17.

{4)
WHE TEEE AT F AR d@gan EeE ;

Write four applications of Photochemical reactions.

. RS BEE F AW, 3% AEa we el 99 W AW F wE fEiEn) 4

Write the name of main steroid Hormones of glands by which it is secreted and

it8 uses.
Haar (Or)
HOTETaY 9 B 7 TEE AR W ¥ w5 £ 7

What is Haemoglobin ? What is its function in the body ?

sgen g 9Ees a9l 9m i Fgod H Al [ored | 4

Write differences berween Chain growth polymers and Step growth polymers.
HAgdar (Or)

fr mger] F Hyowu F FUE, [0 UH IEEm |E

() HAH

(@) weEr=EiE|

Write the equation for the synthesis, properties and uses of the following

polymers :
(a) Teflon

(h)  Polystyrene.

fger om0 U9 Hew wem § Hal feiag) (FE 90) 4 |

Write difference between Double salt and Complex salt. (Any four) |

7—12—M—153B2
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18. fofte =1 %7 9D =1 94H T F AEEsT 5
What is Micelle ? Explain the cleaning action of Soap.

HEga1 (Or)

Feifes Taegd 9IR F Tagw wiagw Gy = ave e afE S

Describe the electrolytic dispersion methoed for the preparation of Colloidal

solution with diagram.

19. C,H, , CH, @4 H, 5 & 37 =0 F T FHY: — 1409.5. — 1558.3 741

- 9285.6 kJ ¥ 1| C,H,, F1 TEEEAFT F0 F T Frre | 5

The heat of combustion of CH, . C,H,_ and H,  are — 1409.5, - 1558.3 and

_ 985.6 kJ respectively. Caleulate heat of hydrogenation of C,H, .

20, UTHEEE avE =R #1 Wiy e farg = e faesi § geeE 5

(w) afyfEE =1 mEEEE TEE

() SUHL w i =

(my Hfwm @i

Describe the quick Vinegar method of preparing Acetic acid under the following
points

{a) Equation of chemical reaction

(b)  Labelled diagram of the apparatus

{¢)  Method in brief.

7Z—12—M—153B2 B,
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HIGemr (Or)
T @ £, 59 (FEd UHEAS 99160 2iS9)

() TArEsEs & Udics UAEESEs = &1 39 5l &
(@) TEulYs 39 &1 T F WY 360°C W TH FA ¥
(1) wHER FERE ® g e

(9) SfeyEn wiEz F1 T A9 59 99 €
(%) ufys THF e 3 F 9 TFmw wa e 7
What happens, when (Write chemical equation only) :

(a)  Benzaldehyde reacts with Acetic anhvdride

(b)  Diethyl ether is heated with Alumina at 360°C

(¢} Acetone reacts with Chlorine
(d)  Calcium formate is dry distilled
(e}  Ethylamine reacts with Nitrous acid ?

21. Tewis w5999 & =01 9094 £ 7 100 o9 == 9 1 7M™ NaCl 559 =1 ©= Tao9d 79
T R | S W Hies $ETe (2w 1.85 k kg molt 71, 1 NaCl F @EEE F A
7 Sitan| NaCl f5aea F fou femis § s9997 0.604 k | 5

What iz depression in Freezing point ? A solution is prepared by dissolving 1 gm
NaCl in 100 gm of water. The molal depression constant for water is 1.85 k ky
maol~!. Calculate the value for degree of dissociation. Depression in freezing
point for NaCl =olution is 0.604 k.

22. T ofiEddl & Faa THENE FHE EE 5
() vHER F fFRE
(w) dfys wfi[ 9 oige e
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Give chemical equation of the following changes :
(a)  Aniline to Phenol
{b)  Methvlamine to Ethylamine.

Hgar (Or)

(%) T’EFI stfufean
(@) TETSEEEFY FEE
Explain the following reactions along with the chemical equation :
(a)  Coupling reaction

(b Diazotization reaction.
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(1} 99 999 T Fi=0)

(2) mm1ééﬁmmzmw%ﬁmmmﬁ?mﬁrw-m
30 7= 21

(3) W9 Ui 7 § 12 9% gois U 3 #% F1 E 99 W W F I W e
50 = F

(4) Tﬁm:riaquv.i1?ﬁ$q—qr.éa;m4ﬁ£aﬁ%3mmm#waﬂm-

HH 75 7= B

(5) ¥ FEF 18 F 22 7% WAE U 5 ohw W E a4 yow 9w ¥ v a v

HH 150 &2 T

L

(6) TEFR WY F WY IEE IE Twiw T S
Instruetions :
(1) Attempt all questions.

(2) From Question Noz. 1 to 6 each question carries. 2 marks. Answer each
question in maximum 30 words.

(3) From Question Nos. 7 to 12 each question carries 3 marks. Answer each
question in maximum 50 words.

Z—12—M—153C2 B0



(2)

(4) TFrom Question Nos. 13 to 17 each question carries 4 marks. Answer each

question in maximum 75 words.

(5) From Question Nos. 18 to 22 each question carries 5 marks. Answer each

gquestion in maximuin 150 words.

() Mauarks have been shown against each question.

1. G wEE wEs # E 7 3
What is Bonding molecular orbital ?

> Fameim 5 sfeedta gt § 2 s fared 2
Write two differences between Crystalline and Amorphous solids.

 Hreea =87

Ll
(!

What is Moelality ?

4. wzid TY wEa €7

ted

What is Entropy ?

5 i faaved fs8 Fa0 €7 2
What is Nuclear fission ?
a.fﬂa‘%mw%?wmm1 5

What are Mordant dyes ? Give one example.

?.Wﬁfﬁ%ﬁﬁn@ﬁ@ﬁﬂ?ﬁﬂﬁf@m

L

Write three important uses of Tracer technique.
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10,

i =

13.

. HEyY uEEt ¥ dge difE 590 w0 9gin gl 2 | HEEEd |

{3)

. STty ag) SrEieEs e 908 A9 o9 | 540 7 3

Beryllium and Magnesium do not give flame test. Why ?

1ad

Transition metals possess a tendency to forming Complex compound. Explain.
AT = 99" F E / 3

What is Inert pair effect 7

TATE WHAT HiiEds § =E F1 g9 H e 9 S9marEl o ErEe JHmEmm
e | B

Write the equation of chemical reactions taking place in acidic bessemer converter

in the manufacture of Steel.

HIGEGT (Or)

i & i # wge 999 giads ° 29 9 O9EiEEe AiiEan @)

Write the chemical reactions taking place in bessemer converter used in the

manufacture of Copper.

LY

Oxvgen is gas, while Sulphur is solid. Explain.
AGET (Or)

H,O %1 e H H,S Yae #q=@s & | =17

In comparison to H O, H.S is strong reducing agent. Why 7

Rl F HER F R ? TR =R Swdn fareu) 4

What is Kohlrausch’s law 7 Write its four applications.

7—12—M—153C2 P.T.O.
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14, WEY THEAF AGET @7 09EEE gitEn § 9w dw =) X
Write four differences between Photochemieal reaction and Chemical reaction.
15, IeREHEE Gifsl F aaeam EEn) (w5 =) 4
Write the applications of eoordinate compounds. (Any four)
l6. gHiw=H U 9HHZ wif=s 5o ¥ 2 fofg) 4
Write differences between Thermosetting plastic and Thermoplastic polymer.
HAGET (Or)
=1 wg=st & Hyeuw = FHtETE, W wS swEn faren -
(/) AE=-66
() WLELEL |

Write the equation for the synthesis properties and uses of the following

polymers :

(el Nylon-66

()  PV.C.
17. H= RHITS TIEMA F 9, 3= ®ieg 514 39 U9 F 9™ 9 54 faiEe ) 4

Write the name of main steroid hormone of glands by which it is secreted and

its nses,
HAGET (Or)
BRIt =1 £ 7 S5 YO H s W £ 7

What is Haemoglobin ? What is its function in the body ?

Z—12—M—153C2
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18, HIVZETH < o HY ] H9Hd £ 72 1.26 98 NaCl 7 50 99 91 § =59 9@ 5o

H #EF99 — 1.53°C &1 =71 £ | NaCl & T9d=m =1 o1 3 5w (99 = anfies
FTeHA feEe &1 A 1.86 k kg mol! B) s

What do you understand by Vant Hoff's factor ? When 1.26 grams of NaCl is
dissolved in 50 gms water, then depression in the freezing point of the solution
is — 1563°C. Calculate the degree of dissociation of NaCl. (The molal depression

constant for water iz 1.86 k kg mol™)

19. =9 =1 Hier U9 9 ® A Sern s € d 3129 kJ SO0 9% gt B AR 0o,
TH H,0, F [&u 9/ 59987 591 % 917 F990 - 395 3017 — 286 kJ mol &1, A

TS T T gE9ET SO ST TUE] F S0 5

When 2 mole of ethane gas are completely burnt 3129 kJ of heat is liberated.
I’ standard heat of formation for CO,_ and H.O, are — 395 and — 286 kJ mol™

respectively, caleulate the heat of formation of ethane gas.

20. Tod@ #1 § 7 WEd %1 94EA w7 99

i

What is Micelle 7 Explain the cleaning action of Soap.
HAgar (Or)
wiize oo aaF &1 fasm wiemm 5y =1 99 o= afes =ifen
Describe the electrolytic dispersion methods for the preparation of colloidal
solution with diagram.
21. T3 ofEeai % wemts e f=E 5
(%) uATER 4 fware
(=) #Afas oH= § ogw e

£—12—NM—153C2 P60,



(6)
Cive chemical equation of the following changes :
(a)  Aniline to Phenol
(b1 Methylamine to Ethylamine.
ZHgar (Or)
() THA A
() SETEEEL A A |

fxplain the following reactions alongwith the chemical equation :

(a) Coupling reaction

() Diazotization reaction.
22. WATTHEA ﬁn:{é*,?‘?mﬂ&“va?ﬁaﬁﬁﬁaﬁﬁﬂﬁﬁﬁﬁm: 5

() @fufEa =1 FHF

() ST W AW 6

(m) wfem &

ixplain the laboratory method for the preparation of Acetaldehyde under the
following points :

(a}  Equation of reaction

(b}  Labelled diagram of the apparatus

(¢)  Brief description of the method.

Hyar (Or)
ﬂﬁmﬁjﬁ(ﬁwwm] :
(%) i wEEE F st F @ e I
(@) T FERTEE F owd B s
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() uiafes sve 1 wfas temee & 39 w9 2 8

(|) =EMUYH $9 UHEHiEE TemsEs F 99 F9 50 &

(T) WIHAMES F S5 U6 Ses a7 = 919 ™ 53 9@ 22
What happens, when (Write chemical squation only) :

(a) Ethyl acetate reacts with Ammonia

(b} Acetone reacts with Chloreform

(c}  Acetie acid reacts with® Ethyl aleohol

(d)  Diethyl ether reacts with Acetic anhvdride

(¢}  Propanamide is heated with Br, and Caustic Alkali ?

/—12—M—153C2 25.534



